"TEMPUS

The Tempus HLA Genotyping Ambiguous Allele List is intended to provide additional information
regarding the HLA genotyping results provided with the xT test. This test sequences only a
portion of the HLA gene that is most relevant for clinical trial matching, and the resulting
sequence may correspond to multiple alleles. In such cases, a representative allele is chosen
for reporting.

For your reference, we have included the full list of representative alleles, and their
corresponding ambiguous alleles that may also represent the true genotype on the Tempus
Document Library. Representative alleles will be in bold and shaded green, with the associated
ambiguous alleles listed as a dropdown underneath:

Representative and Ambiguous Alleles
A*01:01

A*01:04

A*01:103

A*01:107

A*01:109

A*01:132

A*01:141

This document includes ambiguous alleles reported by Tempus’ xT test. This list does not
include all possible alleles that may be reported. Alleles that do not have associated ambiguous
alleles are not included on this list.

If you have additional questions please contact support@tempus.com.
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